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B.Com. III 

Paper I

(INCOME TAX)

Time Allowed : 3 Hours ] [ Maximum Marks : 75

uksV  % [k.M ^v* vfry?kqÙkjh; izdkj dk] ftlesa nl iz'u gSa]
vfuok;Z gSA [k.M ^c* esa y?kqÙkjh; izdkj ds iz'u gSa ,oa
[k.M ^l* esa nh?kZ mÙkjh; iz'u gSaA [k.M ^v* dks lcls igys
gy fd;k tkuk gSA

Note : Section ‘A’, containing 10 very short answer

type questions, is compulsory. Section ‘B’

consists of short answer type questions and

Section  ‘C’  consists  of  long  answer  type

questions. Section ‘A’ has to be solved first.

[k.M ^v*

(Section ‘A’)

uksV  % fuEukafdr vfry?kq mÙkjh; iz'uksa ds mÙkj ,d ;k nks okD;ksa
esa nhft,A 1×10=10

Note : Answer the following very short answer type

questions in one or two sentences.

1. ,d O;fDr 15-11-2020 dks LFkk;h :i ls Hkkjr NksM+dj tkrk gS]
15-11-2020 rd vftZr vk; ds fy, mldk dj fu/kkZj.k o"kZ
crkb,A

A person leaves India permanently on 15-11-2020.

The assessment year for the income earned till 15-

11-2020 shall be ?

2. Ïf"k vk; esa 'kkfey u gksus okyh ikap vk;ksa ds uke crkb,A

Mention the incomes not included in agriculture

income.

3. djnkrk dh dqN vk;sa ,slh gksrh gSa ftUgsa mldh dqy vk; esa
'kkfey ugha fd;k tkrk ,slh vk;sa D;k dgykrh gSa \

There are certain incomes of an assessee which are

not included in his total income. What we called

those incomes.

4. ,d Hkkjrh; ukxfjd tks xr o"kZ esa jkstxkj ds fy, fons'k tkrk gS]
mls fuoklh gksus ds fy, Hkkjr esa de ls de fdrus fnu jguk gksxkA

A citizen of India, who goes abroad in previous year

for the purpose of employment, At least for how

many days he must stay in India to become resident.
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5. ,d O;fDr dks Hkkjr esa vlk/kkj.k fuoklh dc dgk tkrk gS \

When a person is called not ordinarily resident in

India ?

6. r#.k (82 o"kZ) dh xro"kZ esa dj;ksX; vk; 1 djksM+ #- gS bl
n'kk esa vf/kHkkj dh nj D;k gksxhA

Taxable income of Tarun (82 Yrs.) in previous year is

one Crore. In this case what will be the rate of

surcharge.

7. vuqykHk ls D;k vk'k; gS \

What do you mean by perquisites ?

8. e'khujh ij LohÏr Îkl dh nj D;k gS \

What is accepted rate of depreciation  on Machinery ?

9. ykWVjh ds buke dh 'kq¼ jkf'k fdl nj ls ldy cusxh \

On which rate Net amount of Lottery prize shall be

grossed up ?

10. os dkSu lh gkfu;k¡ gSa \ tks vkxs ys tkbZ tk ldrh gSa \

State which losses can be carried forward ?

[k.M ^c*

(Section ‘B’)

uksV  % fuEukafdr y?kq mÙkjh; iz'uksa ds mÙkj 150 ;k 200 'kCnksa esa
nhft,A 5×5=25

Note : Answer the following short answer type questions

in 150 or 200 words.

1. fuEufyf[kr esa ls dkSu&lh vk; djeqDr gS \ dkj.k lfgr mÙkj
nhft,A

vk;                #-

(i) va'kksa ds lV~Vs ds O;kikj ls vk;  16]000

(ii) gfj;k.kk esa Ïf"k Hkwfe ls vk;  6]000

(iii) fons'kh Ïf"k Hkwfe ls vk; 8]000

(iv) vodk'k xzg.k djus ij vftZr vodk'k
dk udnhdj.k (3 ekg dk osru) 17]500

(v) fgUnw vfoHkkftr ifjokj dh vk; esa Hkkx 12]500

(vi) isa'ku ds ½ Hkkx ds fy, djeqDr jkf'k
(mls xzsP;qVh ugha feyh gS) 50]000

Which incomes are exempted from the following ?

Give your answer with explanations :

Income                          Rs.

(i) Income from shares speculation business  16,000

(ii) Agricultural income in Hariyana 6,000

(iii) Foreign agricultural income 8,000

(iv) Leave encashment at retirement

(3 months salery) 17,500
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(v) Receipt from a HUF as a member 12,500

(vi) Tax free amount for ½ part of

pension (He did not received

gratuity) 50,000

vFkok@Or

vk;dj ds mn~ns'; ls fuoklh ,oa vfuoklh esa Hksn Li"V
dhft,A

Distinguish between resident and non-residect for

the purpose of Income Tax.

2. Jherh oh.kk lksuh dh xr o"kZ 2020&21 dh vk; dk fooj.k
bl izdkj gSµ

(i) osru (mn~xe LFkku ij 6]000 #- vk;dj dkVus ds ckn)
3]48]000 #- okf"kZd]

(ii) eagxkbZ HkÙkk (lsok 'krks± ds v/khu) 12]000 #- okf"kZd]

(iii) f'k{kk HkÙkk (3 cPpksa ds fy,) 5]700 #- okf"kZd]

(iv) fpfdRlk HkÙkk (okLrfod fpfdRlk O;; 4000 #-) 7]200
#- okf"kZd]

(v) fdjk;k eqDr edku (eqacbZ esa) daiuh 5]000 #- izfrekg
fdjk;k pqdkrh gSA edku lqlfTtr gS ,oa blds QuhZpj
dk fdjk;k 7000 #- okf"kZd gSA dj fu/kkZj.k o"kZ 2021&22
ds fy, osru ls vk; Kkr dhft,A

The following are the particulars of Mrs. Veena Soni’s

Income for the previous year 2020-21 :

(i) Salary (after deduction of Rs. 6,000 for income

tax at source) Rs. 3,48,000 per annum,

(ii) Dearness allowance (under the terms of em-

ployment) Rs. 12,000 per annum,

(iii) Education allowance (for three children) 5,700

per annum,

(iv) Medical allowance (Actual expenditure Rs. 4,000)

Rs. 7,200 per annum,

(v) Rent free house (in Mumbai) the company paid

Rs. 5,000 per month as rent. The house is

furnished and the rent of the furniture is 7,000

per annum. Compute income from salary for

the assessment year 2021-22.

vFkok@Or

fVIi.kh fyf[k,µ

(i) oS/kkfud dVkSrh]

(ii) edku lEifÙk ls djeqDr vk;]

Write notes on :

(i) Statutory Deduction,

(ii) Exempted income from house property.
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3. Jh dey oksgjk ,d odhy gSa mudk vk;&O;; [kkrk bl izdkj
Fkkµ

               #-                    #-

psacj dk fdjk;k 10]000 eqdneksa dh Qhl 13]68]000

LVs'kujh 3]000 eqofDdyksa ls migkj 4]000

odkyr dh iqLrdsa ykW dkWyst ds

(okf"kZd izdk'ku) 4]000 izk/;kid ds :i esa

QuhZpj Ø; 13]000 osru 92]000

osru 1]07]000 va'kksa ij ykHkka'k 6]000

vk;dj 3]000

'kq¼ vkf/kD; 13]30]000

14]70]000 14]70]000

mldh O;olk; ls vk; Kkr dhft,A dj fu/kkZj.k&o"kZ 2021&22
ds fy, QuhZpj ij 10% ,oa odkyr dh iqLrdksa ij 40% dk
Îkl LohÏr gSA

Mr. Kamal Bohra is an advocate. His income and

expenditure a/c is as follows :

                  Rs.                        Rs.

Chamber’s Rent 10,000 Cases fees 13,68,000

Stationary 3,000 Gift from

Law books Clients 4,000

(annual Salary as

publications) 4,000 Professor of

Furniture Law College 92,000

purchased 13,000 Dividend on

Salary 1,07,000 Shares 6,000

Income Tax 3,000

Net Surplus 13,30,000

14,70,000 14,70,000

Compute  his  income  from  profession.  10%.

Depreciation is allowed on furniture and 40% on

Law books for assessment year 2021-22.

vFkok@Or

dj ;ksX; iw¡th ykHk dh x.kuk ds izko/kku le>kb,A

Discuss the provisions relating to computation of

Taxable Capital Gain.

4. gkfu;ksa dks vkxs ys tkus ds fu;e le>kb,A

State the provisions relating to carry forward of

losses.
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vFkok@Or

Jh x.ks'k tks vkaf'kd :i ls viax gSa] dh 31 ekpZ 2021 dks
lekIr gksus okys o"kZ dh vk; esa fuEu 'kkfey gSaA

(i) O;kikfjd ykHk (,d dkWyst dks fn;s x, nku 26]000 #-
dks ?kVkus ds ckn) 2]52]000 #-

(ii) ,d iathÏr QeZ ls ,d&pkSFkkbZ Hkkx (ftls vk;dj eqqDr
fd;k x;k gSA) ftlesa og lk>snkj Fkk 8]000 #-]

(iii) ljdkjh izfrHkwfr;ksa ij C;kt 8]000 #-]

(iv) Hkkjrh; dEifu;ksa ds va'kksa ij ykHkka'k 6]000 #-]

(v) Jh x.ks'k us viuh iq=o/kw ds fy, ,d 2]00]000 #- dk
thou chek izi= fy;k ftl ij 2]000 #- dk izhfe;e
Hkqxrku fd;kA

dj fu/kkZj.k&o"kZ 2021&22 ds fy, dqy vk; dh x.kuk dhft,A

The Income of shree Ganesh, who is partially handi-

capped, for the year ended 31st March 2021 are as

follows :

(i) Business profit (after setting off Rs. 26,000

paid as donation to a college Rs. 2,52,000.

(ii) 1/4 share from a registered firm (which is

income tax free) Rs. 8,000.

(iii) Interest on Govt. securities Rs. 8,000.

(iv) Dividend on share of Indian Companies Rs.

6,000.

(v) Shree Ganesh took a Life Insurance Policy of

Rs. 2,00,000 for his daughter in law on which a

premium of Rs. 2,000 was paid.

Compute the total income for the assessment

year 2021-22.

5. iqu% dj fu/kkZj.k D;k gS \

What is Re-assessment ?

vFkok@Or

dj okilh ekaxus ds fy, dkSu O;fDr vf/kÏr gSa \

Which persons are authorised to claim Tax Refund ?

[k.M ^l*

(Section ‘C’)

uksV  % fuEukafdr nh?kZ mÙkjh; iz'uksa ds mÙkj 300 ;k 350 'kCnksa esa
nhft,A 8×5=40

Note : Answer the following Long Answer Type ques-

tions in 300 or 350 words.

1. Jh vadqj tSu dh 31 ekpZ 2021 dks lekIr gksus okys xr o"kZ
dh vk; fuEu izdkj Fkh %

(i) Hkkjr ljdkj ls osru ls vk; (dj ;ksX;)A og vius
lsokd;Z ds fy, 3 ekg vesfjdk esa jgs vkSj bl vof/k
dk osru ogha izkIr fd;k 12]60]000 #-

(ii) ,d fons'kh dEiuh ls C;kt vesfjdk esa izkIr fd;k vkSj
ogha cSad esa tek fd;k 20]000 #-
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(iii) Hkkjrh; dEiuh ds ½.ki=ksa ij C;kt U;w;kdZ esa izkIr ,oa
[kpZ fd;s 15]000 #-

(iv) Hkkjr fLFkr edku lEifÙk dh vk; vesfjdk esa izkIr dh
10]000 #-

(v) vesfjdk esa dek;s ,oa ogha ij izkIr fd;s] ijUrq mUgsa Hkkjr
yk;k x;k 18]000 #-

(vi) eqacbZ esa ,d O;kikj ls vk; tks vesfjdk ls fu;af=r gS
22]000 #-

(vii) U;w;kdZ fLFkr O;kikj ls vk; tks fnYyh ls fu;af=r gS
10]000 #-

(viii) U;w;kdZ ls muds HkkbZ }kjk Hksts migkj 10]000 #-

mudh dj;ksX; vk; Kkr dhft, ;fn ogµ

(a) lk/kkj.k fuoklh]

(b) vlk/kkj.k fuoklh]

(c) vfuoklh gSaA

Mr. Ankur Jain has the following income for the

previous year ending on 31st March 2021 :

(i) Income from salary from govt. of India (Tax-

able). (He lived in America for three months

due to his service and received salary for such

period there) Rs. 12,60,000.

(ii) Interest from a foreign company received in

America and deposited in a bank there Rs. 20,000.

(iii) Interest on debentures from an Indian company

received in Newyork and spent there Rs. 15,000.

(iv) Income from House property in India received

in America Rs. 10,000.

(v) Income was earned in America and received

there, but brought in India Rs.18,000.

(vi) Income from business in Mumbai, managed from

America Rs. 22,000.

(vii) Income from business in Amercia controlled

from Delhi Rs. 10,000.

(viii) Gifts sent by his brother from Newyork Rs.

10,000.

Compute his taxable income, if he is :

(a) Ordinary Resident,

(b) Not ordinarily Resident,

(c) Non Resident.

vFkok@Or

fuEufyf[kr esa mnkgj.k lfgr varj crkb,µ

(i) dj fu/kkZj.k o"kZ ,oa xr o"kZ]

(ii) ldy dqy vk; ,oa dqy vk;A

Distinguish between the following with examples :

(i) Assessment year and previous year,

(ii) Gross total Income and Total Income.
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2. Jh foHkksjk [k.Msyoky  rhu caxyksa ds Lokeh gSaA budk
uxjikfydk ewY;kadu Øe'k% 4]50]000 #- 5]00]000 #- ,oa
6]00]000 #- okf"kZd gSA bu edkuksa ds fuekZ.k gsrq fy;s x;s ½.k
dk C;kt Øe'k% 90]000 #-] 1]80]000 #- ,oa 1]20]000 #-
okf"kZd gSA djnkrk ,oa mudk ifjokj rhuksa edkuksa dk mi;ksx
Lo;a ds vkokl gsrq djrs gSaA vk;dj dh n`f"V ls mUgsa dkSu lk
edku Lo;a ds jgus ds fy, p;u djuk pkfg,A rhuksa edku
2008 esa cudj rS;kj gq, gSaA viuk ijke'kZ dj fu/kkZj.k o"kZ
2021&22 ds lanHkZ esa nhft,A mudh vU; òksrksa ls dj ;ksX; vk;
7 yk[k #- gSA

Mr. Bibhora Khandelwal has three Bunglows. Those

municiple valuation are Rs. 4,50,000, Rs. 5,00,000,

Rs. 6,00,000 respectivety. Interest on loan taken for

construction of these houses are 90,000 1,80,000

and 1,20,000 per annum. These houses have been

used by assessee and his family members for there

residence. Which house should be choose as self

residential house for income tax purpose. The houses

were completed in 2008. Give your advice in respect

of Assessment year 2021-22. He has income from

other sources Rs. 7 Lakhs.

vFkok@Or

vk;dj fo/kku esa ^osru ls vk;* 'kh"kZd esa vuqykHkksa ds ewY;kadu
ds tks fu;e fu/kkZfjr fd;s x;s gSa] mUgsa le>kb,A

Discuss the rules of valuation of perquisites under

the head ‘Income from salary’ in Income Tax Act.

3. Jherh fo|k nslkbZ dh vk; ds fuEu fooj.k ls mudh
dj&fuèkkZj.k o"kZ 2021&22 ds fy, vU; lk/kuksa ls vk; Kkr
dhft,µ

(i) ?kqM+nkSM+ ls thrh xbZ jhkf'k 3]500 #-]

(ii) ,y- ,aM- Vh- fyfeVsM  (,d Hkkjrh; dEiuh) ls izkIr
ykHkka'k 7]400 #- ,oa fjyka;l baMLVªht fyfeVsM ls izkIr
ykHkka'k 3]200 #-A va'kksa ds ykHkka'k laxzg ij cSad us 1%

deh'ku fy;kA

(iii) og ,d O;kikfjd QeZ esa lk>snkj gSa ftlesa mudk ykHk
esa fgLlk 11]500 #- FkkA mls QeZ ls iw¡th ij C;kt 4]000
#- ,oa osru 6]000 #- Hkh izkIr gqvkA

(iv) mldh frtksjh esa 80]000 #- dh jksdM+ ,oa xgus ik;s x;s]
ftlds òksr ds lEcU/k esa og Li"Vhdj.k ugha ns ldhA

(v) thou chek ikWfylh 50]000 #- dh ifjiDork jkf'k 92]500
#- (cksul lfgr) izkIr gqbZA

Compute taxable income from other sources for

assessment year 2021-22 of Mrs. Vidhya Desai from

the following particulars :

(i) Winning amount from Horse race Rs. 3,500.

(ii) Dividend received Rs. 7,400 from L&T Ltd. (an

Indian Company) and Rs. 3,200 dividend re-

ceived from Reliance Industries Ltd. Bank

charged 1% for collection of dividend.

(iii) She is partner in a partnership firm and her
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profit share was Rs. 11,500. She received also

interest on capital Rs. 4,000 and salary 6,000

from that firm.

(iv) Cash and Ornaments worth Rs. 80,000 were

found in her safe, the source of which was not

explained by her.

(v) She  received  Rs. 92,500  maturity  amount

(including  bonus)  of  life  insurance  policy

amounting to Rs. 50,000.

vFkok@Or

,d O;kikj dh dj;ksX; vk; dh x.kuk djrs le; os dkSu&dkSu
ls ,sls O;; gSa tks vk;dj vf/kfu;e ds varxZr vLohÏr gSa \

What are the expenses which are not allowed under

Income Tax Act in determining the income from

business.

4. 31-3-2021 dks lekIr gksus okys o"kZ ds fy, fe- tk[kM+ ds fuEu
fooj.k gSaA vki mudh

(v) ldy dqy vk; dh x.kuk dhft,]

(c) gkfu dh og jkf'k crkb, tks vkxs ys tk;h tk ldrh gS]

(i) mlds nks edku gSaµ

                   #-

edku ua- IµdVkSfr;ksa ds ckn 'kq¼ okf"kZd ewY; 56]000

edku ua- IIµpkyw o"kZ dh gkfu 18]000

(ii) mlds nks O;olk; gSaµ

(v) diM+k O;olk;

(i) 31-10-2020 ls can dj fn;k x;k

pkyw o"kZ dh gkfu 60]000

(ii) 2015&16 ls vkxs ykbZ xbZ gkfu 80]000

(c) peM+k O;olk; (pkyw o"kZ dh vk;) 1]05]000

(iii) vYidkyhu iwath ykHk 20]000

(iv) nh?kZdkyhu iw¡th gkfu 15]000

Mr. Jakhar sumbit the following information for the

financial year ending 31st March 2021. He desires

that you should :

(a) Compute the gross total income

(b) Acertain the amount of losses

that can be carried forward :

(i) He has two houses :                    Rs.

(a) House No. I–After all statutory

deductions net value 56,000

(b) House No. II–Current year loss 18,000

(ii) He has two businesses :

(a) Textile Business

(i) Discontinued from 31-10-2020

current year losses 60,000

(ii) Brought forward business loss of

the year 2015-16 80,000
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(b) Leather Business : Profit for

the current year 1,05,000

(iii) Short term Capital Gain 20,000

(iv) Long term Capital Loss 15,000

vFkok@Or

,d la;qDr fgUnw ifjokj ds dj fu/kkZj.k ds laca/k esa vk; dj
vfèkfu;e ds izko/kkuksa dh foospuk dhft,A

State the provisions of Income Tax Act with respect

to assessment of a Hindu undivided family.

5. fe- iquhr ewanM+k dh foÙkh; o"kZ 2021&22 dh vk; dk vuqeku
fuEu izdkj gSµ

               #-

O;kikj ls dj ;ksX; vk; 5]12]000

iw¡th ykHk (nh?kZdkyhu) 30 vxLr 2021 83]000

vU; lk/kuksa ls vk; 1]49]000

ldy dqy vk; 7]44]000

mlus vius thou ij ,d thou chek ikWfylh ys j[kh gSA ftldk
okf"kZd izhfe;e 50]000 #- gS ,oa fpfdRlk chek izhfe;e 20]500
#- pqdk;h gSA foÙkh; o"kZ 2021&22 (dj fu/kkZj.k o"kZ 2022&23)
ds fy, vfxze dj ,oa fofHkUu ns; frfFk;ksa ij tek dh tkus okyh
jkf'k;k¡ crkb,A

Mr. Punit Mundra estiamtes his income for the

financial year 2021-22 as follows :

                                             Rs.

Taxable income from business 5,12,000

Capital gains (Long-term)

August 30, 2021 83,000

Income from other sources 1,49,000

Gross Total Income 7,44,000

He has taken a life insurance policy on his own life

and its annual premium is Rs. 50,000 and medical

insurance premium Rs. 20,500 is paid. Calculate

Advance Income Tax and find out installments for the

Financial Year 2021-22 (Assesment Year 2022-23).

vFkok@Or

dj fu;kstu fdls dgrs gSaA bldh fo'ks"krkvksa ,oa egRo dks
le>kb,A dj fu;kstu ,oa dj vioapu esa D;k varj gSA

What is Tax planning ? Explain its characteristics and

imporance ? What is difference between tax planning

and tax evasion ?

µµµµµ D µµµµµ
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